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PHYSICS SSC-

SECTION - A (Marks 12)
Time allowed: 20 Minutes (Revised Syllabus)

NOTE: Section-A Is compulsory. All parts of this section are to be answered on the question paper Itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencii.

Q.1 Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

() The number of base unit in S| are: i o
A3 B. 6 c. 7 D. 9 " )
(i) 107" stands for:
A micro B. pico C. femto D. nano
iii) A ball is thrown vertically upward, its velocity at the highest point is:
A -10m/s’ B. zero C. 10 m/s? D. None of these
{iv) What will be the weight of a body of 20kg mass?
A 2 Newton B. 20 Newton c 10 Newton D. 200 Newton
(v) A force of 10N is making an angle of 30° with Horizontal component will be:
A 4N B. 5N C. N D. 8. 1N

{vi) The value of mass of earth is:

A 6x10% kg B. 8x10* kg C. 6x10%kg D. 8x10%kg

{vii) Sound energy is produced by the of body.

A rotation B. circular motion C. vibration D. linear motion
(viiiy  Which of the substances is the lightest one?

A. Copper B ‘Mercury C. Aluminium D. Lead i
(ix) A clinical thermometer has range from:

A 35°C to 42°C B. 100°C to 180°C

C. 98°C to 100°C D. None of these
(x) Metais are good conductor of heat due to the:

A free electron B. big size of their molecules

C. small size of their molecules - D. rapid vibration of their molecules
(xi) cos@ is equal to: :

A Hypotenuse B, Base C Perpendicular D. Base

Base Hypotenuse Base Perpendicular

{xii) When a body is falling toward the earth, its P.E is:
A increasing B. not changing C. decreasing D. None of these
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PHYSICS SSC-| M

(Revised Syllabus)

Time allowed: 2:40 Hours Total Marks Sections Band C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION - B (Marks 33

Q.2 Answer any ELEVEN parts. The answer to each part should not exceed three to fourlines. {11 x3=233)

(i)
(i)

(xi)

{xii)
(xiii)
{xiv)

(xv)

Note:

Q.3 a

What are the factors on which the accuracy in measuring physical quantity depend?
Which one of the two instruments is more precise and why?

a. Vernier Callipers b. Screw Gauge

A car starts from rest, its velocity becomes 20 m/s in 8s. Find its acceleration.

Why the spinner of a washing Machine is made to spin at a very high speed?

On what factors the‘centripetal force depends?

Differentiate between scalers and vectors.

What is the second condition for equilibrium?

A mechanic tightens the nut of a bicycle using a 15¢m long spanner by exerting a force of 200 . Find
the torgue that has tightened it.

What do you know about Global Positioning System?

Prove that K.E = %mv2

What is meant by density? What is its Sl unit?

Why Gaps are left in Railway Track? Explain briefly.

Why does a cup of hot tea become cold after some time?

Why wet clothes dry up more quickly in summer than in winter?
What is the unit of work? Also define it.

SECTION ~ C {Marks 20)
Attempt any TWO questions. All questions carry equal marks. (2x10 = 20)

From speed-time graph, prove that 2as =Ff> — Vi’ (04)

A car has a velocity of 10m/s .It accelerates at 0.2m/s’ for half minute. Find the distance travelled

during this time. (03)
What is random motion? Also give two examples. (03)
State and explain Newton’s Law of Gravitation. (06)
Explain the working of Hydraulic press with the help of diagram. (04)
Derive the relation for linear thermal expansion in solids. (04)
Define moment arm. {02)

Two masses 52kg and 48kg are attached to the ends of a string that passes over a frictionless

pulley. Find the Tension in the string and acceleration in the bodies when both the masses are
moving vertically. (04)
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PHYSICS SSC-I
SECTION - A (Marks 12) - (Old Syllabus)

Time allowed: 20 Minutes

NOTE:- Section-A is compulsofy. All parts of this section are to be answered on the question paper itself.
It shouid be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deieting/overwriting Is not aillowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

(i

(i)

(iif)

(v}

(vi)

(vif)

(viii)

(ix)

(x}

(xi)

{xit)

The theories of Greek scientists were based on:
A. General Facts B. Experiments C. Measurement D. Observations
Which of the following equation is true for measurement of volume of sphere?

4 3 4 4
A — B. e c.  —nxrt D. —Tr
3 4 3
The velocity and acceleration of a body moving with uniform speed in a circular path will be:
A In the same direction B. In the opposite direction
C. Mutually perpendicular D. Equal

A body of mass 'm’ is hanging vertically downward with the help of a mass less string. !f the body
is at rest then the tension in the string will be:
A T=0 B. T<W C. >W D. T=W

If Fx and Fy are rectangular components of a vector F, then magnitude of vector F is:

A N Fx?+ Fy2 B. Fx? + Fy? C. \/sz - Fy2 D. \/sz x Fy*

A spanner Is used to lossen a nut. The turning effect depends on the force applied and the
perpendicular distance from the force to the nut. Which name is given to the turning effect?
A Torque B. Pivot C. Pressure D. Resultant
A satellite of mass ‘m' is revolving at a height ‘h’ form earth surface. Its orbital velocity will be:

f GM gR gR
—_— B. JgR C. —_— D. —_
R+h & R+h R+h
The power of a lamp is 6 watt. How much energy does the lamp give out in 2 minutes?
A. 34 B. 12J C. 1204 D. 720 J

If 1 is the length of Tommy bar of screw jack, its pitch is ‘h;. Then mathematically its mechanical
advantage is given by the formula:

A Ma=Z 8 Ma=F o M4 b mu-ZE
h 3h h

In symbols young's modulas is defined as .

A oyp=dxel g oy L o oy E o piXL
FxL Axal Axal Axal

Mathematically, the specific heat 'C’ of a substance is defined as:

A C=A—T~ B. C=mAT C. =£ D C= aQ
aQ aQ aT maT

A man moves along a semicircle. What is the relation between distance covered (S) by him
and his displacement (d)?

A. S=d B. S=#d C. S>d D. S<d .

For Examiner’s use only:

Total Marks: 12

Marks Obtained:
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PHYSICS SSC-I /6
(Ot Syllabus)

Time aliowed: 2:40 Hours Total Marks Sections Band C: 53

NOTE: Answer any eleven parts from Sectlon ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and leglbly.

SECTION-B ks 33
Q.2 Answer any ELEVEN parts. The answer to each part shouid note exceed three to four lines.( 11 x 3 =33)
(1 What is the difference between astrophysics and geophysics?
(ii} Which scissor has greater M.A? One scissor of greater effort arm, ancther one of less effort arm, then

write the formula of Scissor's M.A.
- (i) Describe some reasons which are responsible for errors in measurement?
- (iv) Explain the graph between applied force and the force of friction for a block placed on the surface of a

table.

(v) When rocket takes off, the motion of the rocket and the burning gases are in the opposite direction.
Briefly explain law of conservation of momentum in this case.

(vi) Explain why it is easy to take water by hand pump with handle of greater length.

(viiy  Calculate the average density of earth.

(vii)  Does aman sitting in a moving car possesses potential energy, kinetic energy or both?

(ix) How can mechanical advantage of wheel and axle be increased?

(x)~  Provethat P = pgh

(

(

Xi) What is the difference between Boyle's law and Charles law?
Xii) Which thermat phenomenon is indicated in the given graph and how?

y-IAts

4C
Tempesature (T)  x-axis

lu s

(xiii}  Why does the climate of the regions near seashore remain moderate?
(xiv) ~ Where the weight of a body will be meore? on the earth surface, on the meon, in the water. Briefly explain

reasons.
(xv)  If awooden block of mass 1.5 kg is pushed along a smooth surface of a table with a force of 6N,
find the acceleration of the block.
SECTION -¢
Note: Attempt any TWO questions. All questions carry equal marks. {2 x 10 = 20)
Q.3 a What is the contribution of Galileo in Physics? {3)
" b What is the use of screw Gauge? Describe the L.C and construction of Screw Gauge. {4)
c. A helicopter is rnoving vertically up with a velocity of 8ms™'. A packet is dropped from the window
of the helicopter at a height of 122.8 m from the ground. How long the packet will take to
reach the ground? {3)
Q4 a Suppose a force F acts on a body making an angie & with the x-axis then: {4)
()] Find the magnitude of horizontal component of vectar F
(ii) Find the magnitude of vertical component of vector F

(iii) Find the magnitude of actua! vector F (Resultant vector)
{iv) Find the direction of actual vector F (Resultant vector)

b. What are geostationary sateilites? Also write their uses. {3)
c. A Painter weighing 700 N is standing on a plate form which is hung by two vertical ropes.
The weight of the plat form is 200 N and has 3m length. What will be the tension in the ropes if
the painter is standing 1 metre away from one end? {3)
Q5 a Define kinetic energy. Derive equation of kinetic energy of a moving body. 3)
b. What is thermal conductivity? Prove that K = _ QL (4)
AT -T))t
c. A fish weighing 3 kg is hanging on the one end of a 2 m long fishing rod. How much effort is
applied on the other end of the fishing rod when the fulcrum is 0.5 m away from this end, also
calculate the mechanical advantage of the fishing rod. 3)
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